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BEANRE SHBERE PILKEMBESIZBA S TR R LR

% R Mg - ARTiE B B H @ & % m =
B[R fiff 1,774,105
FTE - FE - REEEH 1,774,105
BLEHEFREES 1,774,105
BEHERAE 1, 739, 900
FTE R 433, 500
1 EHEIZ#E(R 1.00 433, 500 433, 500
=X
eE7IVT 160, 200
2 E7VUTHRE 1.00 160, 200 160, 200
Elzi
HEEEFRORE 353, 900
3 HERO®E 1.00 353, 900 353, 900
BB (5—X)
g - WS 319, 400
4 == 1.00 121, 800 121, 800
]
5 RIR|E 1.00 197, 600 197, 600
(]
Y (RIEERREERL) 472, 900
6 FHBTHREEER 1.00 453, 700 453, 700
=
1T ARARERE&ER 1.00 19, 200 19, 200
=X
E#EEE 34, 205
EHARE 14, 205




BEANRE SHBERE PILKEMBESIZBA S TR R LR

% R Mg - ARTiE i % 8 H @ & % H =
8 FHARE 1.00 14, 205 14, 205
=
S 20, 000
9 EBHEM 1.00 20, 000 20, 000
=




niE % SRR PUKEMBRSEEAL RS

& o g - BRTE Bz = B O & % B
B R il 1,739,900 + 34, 205 1,774,105
EEAGE 1,739, 900
EEREE 34, 205
T Ot R 1,739,900 x 53.85% ( 35% + (1 — 35%) ) 936, 936
RERE 1,774,105 + 936, 936 2,711,041
—REEES 2,711,041 x 53.85% (35% + (1 — 35%) ) — 936 1,458, 959
REmE 2,711,041 + 1,458,959 4,170, 000
HEREHELE 4,170,000 x 10.00% 417,000
£BREH 4,170,000 + 417,000 4,587,000
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51
B FHEEE X4y
% b1 R - kT Bifi = B i & % i B &
HEfE
A 1.00 75, 800. 00 75, 800
FEHRED (%5
A 1.50 64, 800. 00 97, 200
A (A)
A 2.50 57, 000. 00 142, 500
HEf (B)
A 2.50 47, 200. 00 118, 000
=) it YEZ8EH - 1. 00X 433, 500. 00 433, 500
52
ZWM . ETYVUIHRE EEED)
% 7 R - KT Bifi = B i & % i iH &
FEHEm G&E
A 1.00 64, 800. 00 64, 800
A (A)
A 1.00 57, 000. 00 57,000
HEm (C)
A 1.00 38, 400. 00 38, 400
& it YEZERES : 1. 00&FFR 160, 200. 00 160, 200
S :3
B FEROBRE 1IEH (5—R) #Hy
% b R - BIk~Tik B £ B ® % ] s &
FEHRED (&5
A 1.50 64, 800. 00 97, 200
HEm (A)
A 1.50 57, 000. 00 85, 500
A (B)
A 2.00 47, 200. 00 94, 400
HEm (C)
A 2.00 38, 400. 00 76, 800
= it {E%8:Hh - 1.00IBEB (5—R) 353, 900. 00 353, 900
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TMEFEE RILKEMBREFBAZERMERET

5.4
& BRhE EED)
% b1 R - kT ==X v = B OH & % i B &
FEHED G&ED
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57, 000. 00 57,000
=) it YEZREH - 1.00[=H 121, 800. 00 121, 800
ES:5
& =RBRE EED)
% b1 R - kT =X v = B OH & % i B &
HEfE
A 1.00 75, 800. 00 75, 800
FEHRED (&5
A 1.00 64, 800. 00 64, 800
HEf (A)
A 1.00 57, 000. 00 57,000
& it YEZ8EAH - 1.00[H 197, 600. 00 197, 600
E5 :6
B EBTRREER 15ty
4 b B - IKkTiE B £ =R & %8 i s &=
FEHRED (%5
A 1.50 64, 800. 00 97, 200
HEf (A)
A 2.50 57, 000. 00 142, 500
HEf (B)
A 2.50 47, 200. 00 118, 000
HEm (C)
A 2.50 38, 400. 00 96, 000
=1 it YEZEREH : 1.00=K 453, 700. 00 453, 700
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TH6FE HIWKEMBRSIRHABERMERET

E=:17
2% NERARRERER 14y
& L R - BRTiE By B = fili ] i B &
HEm (C)
A 0.50 38, 400. 00 19, 200
& Hi YE%HeH - 1.00=K 19, 200. 00 19, 200
B55:8
2 L g - KT By H = i 58 b i &
EHXAMRE
= 1.00 14, 205. 00 14, 205
& it EXEED - 1.00= 14, 205.00 14, 205
E=:9
&% EBRER 1KY
& L g - KT By 8 2 fili ] b it &
EBRRERE
= 1.00 20, 000. 00 20, 000
& it 1EZEHED - 1.00K 20, 000. 00 20, 000
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